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HIGHER SECONDARY EDUCATION 

FIRST TERMINAL EXAMINATION - 2017 

ACCOUNTANCY WITH COI\IPUTERISED ACCOUNTING 

HSE-XII 

Maximum: 60 Scores 

Time: 2 hrs 

Cool off Time : 15 minutes 
!General instructions 

• There is a 'Cool off time' ofl 5 minutes in addition to the writing time of 2 hours. 
• Use the 'cool off time' to get familiar with questions and to plan your answers. 
• Read the questions carefully before answering_ 
• Calculations, figures and graphs should be shmvn in the answer sheet itself 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 

• Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall. 

• 

• 
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PART-A 

ACCOlJNTING 

Answer all the questions from 1 to 5. Each 
question carries 1 score (1 x 5 = 5) 

1 ill,JIID~ 5 ruliW> ~~::J C.c,_J::JBJi>mC/3c96)ao ~(l)ll))(?) 

6)il}YJactnacfb. lil::>CCT>::Jcmlm,10 - 1 CT\lCcfb::J© GJ"l@o 

(1 X 5 = 5) 
1. From the following, identify the one 

which is not a feature of Receipts and 
Payments a/ c. 

2. 

a. It includes all revenue and capital 
receipts and payments 

b. Accounts relating to current year will 
only be considered in this account 

c. Non cash items does not appear in this 
account 

d. Both 'b' and 'c' above 

Salary paid in advance Rs. 3,000 in a not 
for profit organisation during the current 
year is 
a. An expense b. An income 
C. A liability d. An asset 

1. <.monl ©1 c00 6 cnrnJ (D)l co3 o cru 1 n1 g cru ~ of 

6) nJ (D)' 6) 0of cru mmc00 0'.>6TTsl6)(JR cru ()_fl a: uo <il1 <ID 

CD) ~ :Jam)) <m nfB@ <ID@ <ID 1 © 1 ~ol CD) 6 cfu. 

2. 

a. It includes all revenue and capital 
receipts and payments 

b. Accounts relating to current year 
will only be considered in this 
account 

c. Non cash items does not appear in 
this account 

d. Both 'b' and 'c' above 
ei o a: rs~ (D)l ~ o mTm rn1.0 o nJ m am))l co3 ffiS';½:JJ 
rum <il1mTm 1 co3 06 ®cfu l O:J(D)l mco3cfu 1 CD) UOCTlJ~o 

3,000 ©Jo.J ~cfuJCTnJ. 
a. An expense b. Anincome 
C. A liability d. An asset 
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3. 

4. 

5. 

On January 1, 2015 an educational 3. 
institution owned furniture ·worth Rs. 
25,000 and atthe end of the year the book 
value of the same was ta.ken as Rs. 
23,000. How ~-vou]d you h·ea.t the change 
in the value of asset while preparing 
final accounts? 

The amount of property received by a 4. 
not for profit organisation as stated in 
the will of a deceased person is 
a. Donation 
b. Honorarium 
c. Legacy 
d. Endowment 

Which of the following items that ·will 5. 
not appear in the Balance Sheet of a club. 
a. Special subscription for governor's 

party received during the current year 
b. Subscription received for the next 

year 

c. Subscription outstanding during the 
year 

d. Subscription received for the current 
year 

6306 '1..il,1J)rsp(T\) CTU.noo.Jrncmmlco8 SilCDJOJail 1, 

2015 CT) ?5.000 0),n.J QlJEl,)12)~~ <">.0(06TDl3e!c3, 

o.ic3 n'.li[)("'_,J CT\):)(T)o cdJ (T)) (u)rB, n.il 21 CDJ lm3 23,000 

eu J n..JCD) C) ;D;l C?0G)J6) ajS d a.rrm 7 cn.1J (U 7 ce5> Jn-i-;;. (~ a~ls mil 

'DJJ6)s ill.;"-'1/,'.Jmil03 ,1mT:, 2:;ogo"):0rv1 cv6ln.rJmo8 

C]T),:,3/,Y:J 6TT5 7 m8 r_1.(J)befi:li.i) m --Li Ci)! ;_n 6TTJL:86) 6 0 F 

, , ~ 

63CT)J 8-1c,a;r~~~,l-Ir1~·:-(crrp1 trtLLJ~),.":_.l(-D(OTJJ 1tn ~:J;!;;,t0:-)co> 

m.)J(C:)l'i'.l) 6 0Jcmo9:i61@ o.Jl ,'!J '<:.S6)J ,TD@. 

a. Dona hon 
b. Honorarium 
c. Legacy 
d. Endmvment 
0)J@'f' G)w,::>S'mrrnlrolc.%l1cmc-_,.KOJl('.JS 53CT)J cfu6n 116'Jm 0 0 ..., 6\.: ··..:zi '"'K 
mn e-1 ,18 rn'5 o±fl gl co-S Q c.ro @ ~ s 6 0l'J) o n3 cB, ~ ln o 

cmm @ n-fB 8)::> 6m -: 

a. Special subscription for governor's 
- party received d ming the current year 

b. Subscription received for the next 
year 

c. Subscription outstanding during the 

d. Subscnptir,n recei\-ed for the current 

Answer any 5 questions from 6 to 11. Each 6 rnJa»tna 11 O.J6lco n(B6l®l!hle110 5 G.!l..13<1JlilJl3C/3.96) 

question carries 2 Score (2 x 5 = 10) ~ctrnn@6lf1lY'ja»6.a,. 63:>G0acmlmjo 2 cruG.a.a<3 ru'la»o 

6. 

7. 

The receipts and Payments A/ c of a club 
shows subscription amount of Rs. 
1,00,000 for the year 2016-17. The club 
had 300 members, each paying an 
annual subscription of Rs. 500. 
Show how these will appear in the final 
accounts of that club. 

(2 X 5 = 10) 

6. 2 o 16 - 17 ruc3 cfrJ cmm 1 ro8 63 CT) 6 ~.61],jl m cru6T1J m'5 lcfu 7 

n1~cm &Qcncmmlro8 e..irsl~ cm6oS:i 1,00,000 (()Jn.J 

o cru "l n1 g m'5 ~ ORV @nJ cw@ 00Rlro8 a:061J@ \½:JS 6 cmm 1 

CDJl0lc00jcm6. ~Eil}Jlm 300 @12l6l'l.1@12l::>(1)6o, 63::>C8(1)::> 

@12l6DJ06a:sCDJ6o ru::>c3cfrJlcfu OJ(1)lffi.lo61JJ 500 0JnJ 

CD>Jl2l::>6TD. 

~ 6l}J 1@1 @@o.D m ro8 (Gli)cOO 'D6Tls 6 c0, gi 1 ro8 nfD 6Gl3 

6) CT) CQJ::)Gffi gQ OJ6) CQJ Q Cf8@<;tj S 6 (ffi()) 6 cm al) ng)Cll) 

Receipts and Payments account for the 7. 
year 2016 - 17 shows purchase of 
investment @ 8% Rs. 30,000 on 
01.04.2016. How do you treat the above 

cfu::>6Tnlc00 6 cfu. 

2016 - 17 6)e.J ocru1n1gcru ~ORV 6)nJ(D)6)12lORV m'5 

(Gli)cOO'D6nslm8 01.04.2016 ro8, 8% mla:o3:&Jn.Jo, 30,000 

(1) i nJ c0,06Tnlc00 6 cm 6 61"@. @@ o.D mm8 @Tc)cOOl"D6T'@ 

cm CDJ ::>O::>c00 6 a:cru::>u8 a: 0m8 nJ o 6YOlID ru@ CDJ cfu6Tn 
at the time of preparation of final 
accounts? 

c00lm8 nfD6Bl3@m nJ m lcn6Tnl c006ffio. 

Accountancy with Computerised Accounting (56) - 2/8 

:r 



8. 

9. 

Joshi and Sheeja are equal partners in a 8. 
firm. Their capital at the beginning of the 
financial year as on 2016-17 is Rs. 70,000 
and Rs. 50,000 respectively. Calculate 
interest on capital @10% per annum for 
the year, if: 
a) The firm made a loss of Rs. 20,000 /­

during the year. 
b) The firm's profit during the year is Rs. 

30,000/-. 
Tham bi, a partner withdrew Rs. 1.5, 000 9. 
in the beginning of every quarter from 
the firm regularly for his personal use. 
Calculate interest on drawings@ 6 % per 
annum. 

10. The following excerpts have been taken 10. 
from the Balance Sheet of a charitable 
institution. 

~~On9::fl, al:1°1~ nq)CTn'l <mJeJ_,\ n.JffhO~lcfh~J@S 2016 

- 17 cruoCT1J<mmlcfh OJ@n9:JOa>ors<mml@e.i 0Je.Jillm 

m'lc06llCQll©lij 10;000 a>Jn.J, 50,000 a>Jn.J n4)CTnl6lffi 

@ m CQl 06m. cmo@ ~ nJ o CQl 6 cm ml 6l1..l crw mcfhu8d36> 

OJl~illCQl00CQll ruoc3n9:Jlcfu fllJeJillm n.JeJluo 10% 

m 1 a>c06l 1 coo cfh6ffi c06l o c00 6 cfh. 

a) The firm made a loss of Rs. 20,000 / -
during the year. 

b) The firm's profit during the year is Rs. 
30,000/-. 

nJ ffh o ~ 1 CQl o CQl cm CT1Jl cru J cfh o a>.,\ -~ OJ ® .,\ 

6lffiOOc06lOCQll 15,000 a>Jn.J ru'lcmo n.Jlcmrue.ilc06l6 
cm6. @@Lcmfllocru ~a>ors<mmle.io6m @CO cm6cfh 

crun l©00CQl1 nJ 1 cm ru e.i lc06l 6 cm@<m ffi, 1 coo, ruoc3 n9:Jl cfh 

~ u:woCQllo m m'5 nJ e.il uo 6 % ml aic00lcoo cfh6Tnc06lO 

cOOJcfh. 

@ ai 6 ~00lgmflu8 m10on.J m<mm l@CJA 6l1JO e.icm m'5 

n9:l'lglcoo ml@ nq)SJ<mm ~leJ <s0(1)6lffiOO ~ 6ru@s 

~~©c06lJCTnJ. 

Balance Sheet as on 31.12.2015 
Liability Amount 

Match Fund 10,000 
Add: Sale of tickets 18,000 

28,000 
Less Match Expenses 30,000 2,000 

Do you think that the above treatment 
is correct? If not, make necessary 
rectifications. 

11. A, Band Care partners with capitals of 11. 
Rs. 10,000, Rs. 5,000 and Rs. 2,000 
respectively. The profit and losses are 
shared as 3:2:1. A and B have guaranteed 
that C's share will not be less than Rs. 
6,000 in any year. The net profit for the 
year before providing interest on capital 
@ 8% p.a: was Rs. 18,000. Ascertain the 
amount of deficiency to be borne by 'A' 
and'B'. 

Assets Amount 

06cfh~lcoo (n.J<mln.Jc>Bl~ a>'l<ml uoa>lCQl0@6ffi@ cfha>J 

<m6cm6~6Tls0? am@~ffhlCOO ~OJU1>_,\00CQl <mla>6 
<mm e.i J cfh(ll) OJ© 2 <mm J cfh. 

n.Jffho~lcfh~OCQl n©, 6l1..ll, crul nq)cmlruai6@s 0ie.i 

illm m'lc00lCQllailij 10,000 a>Jn.J, 5,ooo aiin.J, 2,000 

0 l nJ n© cml 6lffi @ m CQl o 6TTJ. fll l eJ ill m <mm 1@ 0A 
OJO@n9:Jlcfh n.Je.Jluo mla>c:66) 8% ru6o, amruai6@s 

e.iorsm<ftis amm6n.Jo<mo 3:2:1. @a>6 OJ@n9:JOJ6o 

'crul' nq)CTn n.JffhO~lCQl6@s 63::>nDa>l 6,000 ©Jn.J 

CQllcoo cfh6oo1 ruail~ n©cm 220\½:]J mcoocfh6cm6. 

(l}JeJWm n.Je.Jluo amm;;OJBlc06l;;cm<mlm fll::lffiJ::l~ 

mlOOn.Jm<mml@CJA amgoBOCQlo 18,ooo a>Jn.JCQl06m. 

' n©', '6l1..l l ' n© cm nJ ffh::> ~ lcfhu8 cfh ril1l 1 m 1 cfh<mm 6 
cm<mlmoCQll run0l~c06l6Tls cm6cfh n©L<m@CQlcm 

cfh6TT)c66)::)ce@ 6 cfh. 
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Answer any 1 question from 12 and 13. 12, n aj)cmlru:nJl~ mlcm~o ~6l®HhleJ!,o 63©~ c:.!Lle>B~o 

Question carries 3 Score (1 x 3 = 3) ajl'!'JCIDJ..a.. CTDC&J@ 3 (1 x 3 = 3) 

12. State whether the accounts given below 12. 
are capital-or revenue ·and write where 
does it appear in the final accounts of a: 

an cm 1 01 c95l 6 cm CT3lo c06) 'D 6TTsq c& u3 ca,~ o oJ 1 g ©8 

(ITT!)@ tg,j tBJ 1 Cl8 0 OJ m ~J ~ G: 6Tn o nmcm n© !l' Jan J cfu · 

eJ O G: rs 7' ::DJ 1 tg,j O(Ol(l) CTU.O O o.J(l) 6GB ~ 6@s 6)6) n.O (l)(OO 

Ci3Tr) c0S) 'D 6TTs 1 ro3 (BT<) (lJ 63:) G: (() ocm 1 G: m ::DJ/, 0 n© OJ l@s 

c&o6Tnl c95l6Tno nrocm 6 o n© !!'6 <m 6 c&. 

not for profit organisation. 
a. Sale of old news paper: 
b. Libr~ry fund a. Sale of old news paper 
c. Honorarium b. Library fund 

c. Honorarium 
13. A library possesses books costing Rs. 13. 

1,50,000 as· on 01.04.2016. They 
purchased books for Rs. 40,000 and sold 

01.04.2016 (00 63~2, 6)6)eJl6TlJ()lCQlJ6)5 6)6)cfu(l](/{)Q 

1,50,000 IZlloJ 0leJ~0J&lli oJ6cru<mcfu6GB~JGITT. 

2016 - 11 (f\)QCT1J(Ol(l)lc& OJ@cilio 40,ooo 0JoJCQl6@s 

oJ 6 m5 cmc&6GB u3 c& ls 1 CT3lo OJ@ ruo 6GB 6 cm 6. ms \½::12. 

OJ@cilio 5,000 0JoJCQl6@s G:cfuSJoJOS (f\)o@OJl~ 

oJ 6cruancfb6BBu3 2,000 0JnJd¾l OJ1CTJ8c06)6cm6. 

31.03.2017 (0)06)!!' oJOCQlJ(TT) ffi'roc06)'D6TlsJctnCf3 @CQJO 

()Oc06) 6 a: cruouB a: 0 ©8 oJ () 6mm) 2J2 m6lffi u3 nq)6lffi@ m 

an1<8\½:JOc06)J@0cm cfu06Tnlc06l6cfu. 

out damaged books worth Rs. 5,000 for 
Rs. 2,000 during the financial year 2016 
- ~7, Show how these items will appear 
in the following accounts prepared on 
31.03.2017. 
a. Receipts and Payments account 
b. Income and Expenditure account 

Answer the following question. Question 
carries 4 score (1 x 4 = 4) 
14. On the basis of information given, 

calculate the amount of stationery to be 
written in the Income & Expenditure 
A/ c for the year March 31, 2016. 
a. Stock of stationery as on April 1,2015 

Rs. 7,000 
b. Amount paid for stati~nery on March 

31, 2016 Rs. 22,000 
c. Stock of stationery on March 31, 2016 

. Rs.2,000 
d. Crrditors for stationery on March 31, 

2016 Rs. 3,500 

a. () Cf\) 1 o.'i g m5 ~af @oJ w@0C1f m-roc06l'DGITT 

b. 2J2®cfno ~of n©cfum3'@oJ®(U)1 ~<8 

(Bll)c06) 'D ~ 

"til ~p c: .!LI e> B ~ lilm CJ3 c96) 2 o ~ omD © o r>fil ljl <l cm 2 <ili. c: .!LI e> B ~ 

am»lm 4 rn5c:«fue>@ (1 x 4 = 4) 

14. ancmlallc06)6cm OJ10J06Gl3~1©8 mlcm 00<8~ 31, 

2016 6)eJ §;Q®cfno ~Clr nij)cfuITT@oJ®CUll~@ 

CT3loc06l 'U6TTs 1©8 n© !l'J G:an617s a:~ cili(l)()l CQl :i,@s <m 6 c& 

a© L<m@CQJ cm c&6Tnc06l0cf}6} 2, ctn. 

a. Stock of stationery as on April 1,2015 
Rs. 7,000 

b. Amount paid for stationery on March 
31, 2016 Rs. 22,000 

c. Stock of stationery on March 31,-2016 
Rs. 2,000 

d. Creditors for stationery on March 31, 
2016 Rs. 3,500 
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Answer all the questions given below 
(Question 15 and 16). Each question carries 
5 score (2 x 5 = 10) 

~~p G.!1..l()B~omu3.a6l~o ~©TID@o <l.{j)Y'~CID~<fb (c;.!1..l()Cl~ 

6'IBCl3 15, 16). 633G@() G.!1..1:JB~©TIDlm~o 5 cruc;.a,30 

cl.ll®o (2 X 5 = 10) 

15. Shibu and Biju share profits and losses 15. 
in the ratio of 3:2. Their fixed capitals 

o'l::fl6TlJ6, 6T1Jl@i!6 ~cm'l o .. HlhO~lcfuu3 3:2 (llTc)ffi6oJO 

(ID <OTID 1 m3 8.1 ors m rfti' s o ru'l (ID 1 d36l 6 cm ru ai o 6TT) .. 

ofilLoJlm81, 2016 @8.1 (llTc)ruaJ6@s cru_ola:, 12l,l8.1Wmo 

o'l::fl6TlJ6 90,000 0,loJ, 6llJ1@'.i!6 50,000 0,loJ nmcm16Bl3 

@ m (Q) o 6TD. ruoc5 o<1:fl cfu 12l ,l 8.I w m oJ 8.11 cm m 1 a:, c:06) 

8% (llTc)ffiJ(l]Bld36JOffiJO, GiL(U):J(Q)lowcrulmJ Gil2lm3 

10 % oJ 8.11 cm rum o'}:j(OTO) 1 m3 cfu6TT)d36) :)d}6):) m 6 0 (ID "l aJ 6 

12lOm1~1~:jJ6ra. 31 12l0©~, 2017 (lJ@o'l:JO(l]CTUOm 

<OTID1m3 Gil2lm3 cru .l-''-.. fl~l~ (llTc)(U)@i! ~@0o'A6cfuu3c:06) 

12lJCT)J rnlOOoJmo 40,000 0,loJ (llTc)QOBO(Q)o ~61ls:) 

d36ll(D.)13J~- o'l:J16llJJ,, 6T1Jl~6 nmcmlruaJJ6)5 

GiLCWO(D.)1owrn'5 2,000 0,loJ 1,000· 0,loJ(D.)612l06TD. 

Gil2lm3oJ06ml'ID rul (l]aJ6Bl3 ~ 1m3 ml cm' oJ ffi>O~lcfuu3 

8.1 ors o OJ"l (ID 1 d36l 6 cm (ID 1 m 6~ (llTc)cfu 'DE>rn <m (Q) oo o 

d36ll (Q) <m -'l..16 OJ@ s GI -'l..l@ <OTIDl ail d36l 6 cm 6. g;Q'D 

(llTc)d36J'DE>rn ml a:, "l,rui:fl~, ~ ruuo.,1i06~ soo (IDl ai 6 
<OTID 8.12. cfuu3 OJ ai J <OTID 6 cfu · 

on 1st April 2016 were; shibu Rs. 90,000 
and Biju Rs. 50,000. They agreed to 
allow interest on capital @ 8% per 
annum and charge drawings@ 10% per 
annum. The firm earned a net profit, 
before all the above adjustments of Rs. 
40,000 for the· year ended 3pt March 
2017. The drawings of Shibu and Biju 
during the year were Rs. 2,000 and Rs. 
1,000 respectively. 
Considering all the above, partners have 
prepared the following account to show 
the distribution of profit. You are 
required to observe the account and 
make rectifications wherever necessary. 

Profit and Loss Appropriation A/c for the year ended 31.03.2017 
Int. on Capital Net profit 40,000 

Shibu 7200 Int. on drawings 

Biju 4,500 Shibu 200 

Partners Capital A/ c 28,600 
I 

Biju 100 

Shibu 17,160 . 

Biju 11,440 40,300 
; 40,300 

16. Suresh, Abu and Thomas are partners 16. 
sharing profits in the ratio 5:3:2. Their 
fixed capitals are Rs. 1,00,000, Rs. 70,000 

cru 6-0: ai rfti', (llTc)6TlJ 6, GI (ID o 0 rn'5 nm cm "l oJ ffi>O ~ 1 cfuu3 

5: 3: 2 (llTc) m 6 oJ o (ID<OlID 1 m3 8.1 ors m o'l1 so OJ"l (ID 1 d36l 6 

cm OJ 0 o 6TTJ. (llTc) ru ai 6 @ s cru_o 1 ai 0 .l 8.1 w m 

ml<licfh'l1o.Jo 1,00,000 0,loJ, 70,000 ©,loJ, 50,000 0,loJ 

nm cml 6Bl3@ m (Q) o 6TD. 02 8.1 w m oJ 8.11 cm cfu6TT)d36JO 

d36ll(Q)Gi~Ou3 5% oJ8.1lcmc:06) o.JcfuaJo 7% oJ8.1lcm 

CITToOJ06@s (llTc)d36J'D61lslm3 Lcfucwlg @-'l..!CQl(IDJ. @(IDm 

(ID 1 a:,6 (OTO) 6cm (IDl CT) ~ OJ cm .,li(lJO (Q) (llTc)(U)@i! W,?@12lo'Av 

nmmLsl mm3cfu6cfu. 

and Rs. 50,000 respectively. Interest on 
capital was credited to them @ 7% 
instead of 5% per annum. Pass an 
adjustment entry for rectifying the 
errors. 
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Answer any one of the questions from 17 and 11, 1s ~cmlc}J(n>l<Wi mlcm.;o nfil6l®Hh1e.i.;o til@.; c:-'•-tlB~ 

18. 8 score ( 1 x 8 = 8) cmmlm ~cmmaio ~CJJ,l®,ldh. s cruc:.a,:Jro ( 1 x 8 = 8) 

17. From the following Receipts and 17. 
Payments account of a Entertainment 
club and based on the additional 
information, You are required to 
prepare Income and Expenditure 
account and Ba]ance Sheet. 

63 0 6 1tl6T11 l@OR cm cml 0 7 c:00 6 cm o m/1 o1 g cm CB'@; ORV 
6) n.J CQJ 6) (2) Clf (lffi) c:00 0J 6Tls 6 o , m 1 c:00 6 Cl n.J:) c:00 6 cfu 

@~CD! 6 o (lffi) s 7 cru..o om@~ s 6 cmm 7 @® cfuo CB'@; ORV 

a© cfu cru 6) n.J cm (U) 7 ~ c3 (lffi) c:00 0J 6l'li cru 6 0 

6T1J o e.i mi cm n'l:1, mo (7J) CD) o o o c.36) 2, c0-,. 

Receipts and payments Afc for the year ended Jtst oecember, 2015 
Receipts Payments 

Balance b/d 4000 Rent 2400 
Donations 4000 Wages 2600 
Subscriptions 21400 Books purchased 3000 
Entrance fee 600 10% fixed deposites (on July 01, 2015) 20,000 

Cash in hand 2000 
30,000 30,000 

Additional Information: 

a,· On December 31, 2014 Club possessed books worth Rs. 25,000. Provide 10% 
depreciation on books including purchases during the year. 

b. Subscription in arrears at the beginning of the year amounted to Rs. 1000 and at 
the end of the year Rs. 800 was outstanding. 

18. Explain the books of accounts to be 18. 
maintained and the final accounts to be 
prepared for a not for profit 
organisation. 

e.i o <ll <s ~ CDJ7 ~ o cmm cru..o o n.J m m 7 m3 cm CDJ o o o 

Cl c:00 6Tls (lffi) c:00 0J 6Tls 6 ce-, 6) ~ CD! 6 o (lffi) OJ CD! 6 6) S 

@@ n..0 m m3 (lffi) c:00 0::i 6Tls 6 c0-, Cl~ CDJ 6 o c0-, 6 ol ~ OJ 7 cmB 1 

c0-, (() 7 c:00 6 c0-,. 
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PART-B 

COMPUTERISED ACCOUNTING 

Answer all the questions from 1 to 3. Each 
carries 1 score (1 x 3 "= 3) 

1 lll(?})m?J 3 (H6'l8 ~l'i,?fl CiiJC3J61ffiC/3«1¾)Jo ~Cl>lID<c>6ll1l 

'4'·,;el)ltt'». 63:JCrc1:JCTnlm60 1 m5CcEh:J@ cu"l@o (1x3 = 3) 
1. Find the odd one out. ·1. qruol~3,; m7co3c0o16rmrn6 cfh@6TTscmm6cfu._ 

a) Data d.) Data 
b) People b) People 
c) Hardware c) f-Ia.rdware 
d) Accounts d) Accounts 

2. The concept of Data Vault implies 2 , " (\J) :)Q (l; 0.J '.)CJD§ ,. NJ) (ffi ~ (Jc) CQ) 0 6)cfu J 611s 6 ~ <l:{J 

c.01 d36) J cm cm 

3. 

a. 

b. 

C. 

d. 

Maintaining confidentiality of 
information by encrypting the 
data. 
Use of a pass code by authorized 
person to get access to computer, 
file or program. 
Mechanism to perform an audit or 
track changes that affect the 
integrit:v of a transaction. 
A device to store data or 
information relating to business 
transactions. 

Which among the following is NOT 3. 
TRUE about spreadsheet 

' a. Contains rows and columns 
b. Can contain many worksheets 
c. Can be used as a database application 
d. Can be used for mathematical 

calculations 

a. Maintaining confidentiality of 
information by encrypting the 
data. 

b. 

C. 

d. 

Use of a pass code by authorized 
person to get access to computer, 
file or program. 
·rv~echanism to perform an audit or 
track changes that affect the 
integrity of a transaction. 
A device to store data or 
information :relating to business 
transactions. 

(Tl) 6) ln.J cw' dl:J"l g m.io 6TlJ crw 1 iJ @ <m~:p CQJl §J~ 

~n.J (Tl) (0):) (1J m nfil cm. 
a. Contains rows and columns 
b. Can contain many worksheets 
c. Can be used as a database application 
d. Can be used for mathematical 

calculations 
Answer all the questions from 4 to 6. Each 
carry 2 score (3 x 2 = 6) 

4 .D.; '.7lX~"3 6 ClJi;)(c) aj)~p G.ilJB~li<Jl3Cf3a¾>6o ~Cl>lID06ll1l 

<r·~DJ);d>. iil:JC:0:JCTDlm~o 2 cruc:,a,am ru"l@o (3x2 = 6) 
4 , cm CTl.l ~~ § 6)@ o (Tl) cw' <mo cOO 'D 611s 7 ow m.i l CTl.l 8 :) CQJ 4. Write four advantages of Computerised 

Accounting System. 

5. 

6. 

What do you mean by logical functions? 5. 
Give an example; 

Explain how a spread sheet 'function is' 6. 
deferentfrom 'formula'. 

... 

crnm 7 6) CTR nm 6) <m ffh 7 8.1 6 o m oer a: m § 6GB CJD 

nmw,1<mJcfh. 

<l:8.l:)mlc00m8 n..006Bdl:JCID(TI) nmcmom3 nmCTID? @06 
~80n.0(1)6TTlo nmw6<m6cfu. 

nm 6(ffi 6) m CQ) J 6TT) (Tl)@ c nJ cw' dl:J"l g ' n..0 613 dl:J cm ' 
'a:n..0oc8068.JCQJlm8' · mlcm6o ru~<m~:)m.J6)\½:l§l0lc006 
cm cm nm cn'i' OJ 7 (Jc)(3 "l cfu 0 7 c00 6 cfu . 

HSSLiVE.IN HSSLiVE.IN HSSLiVE.IN -HSSLiVE.IN HSSLiVE.IN 

Accountancy with Computerised Accounting (56) - 7/8 

., 



-- -- --------------

Answer any TWO questions from 7 to 9. Each 
carry 3 score (2 x 3 = 6) 
7. Explain briefly the idea of coding in 

Accounting. 

1 11l6 @©& 9 OJ6) a, "tB 6)@1lb l ~ 6 o a, 6'l"B c .!1.IO C3 ,\ omC/3 c66> 

~<m'ID@6)11)Y,d(l))d<fb• cruc.a,oro 3 ru'l@o (2 X 3 = 6) 
7. «rn) c66) rn 6llsl o (J) 6 l2l o CDJl 6TlJ ffiJ.) 6) ~ 3 a: cin o (U) 1 o (I) 

8. 

9. 

Explain the security features that a 8. 
typical accounting software should 
possess? 

Briefly explain the basic concepts of 9. 
electronic spreadsheet. 

a©CTn ~(l()CDJo OJ100Bl2l0c66)Jcfu. 

@(1)6 12lO(?J)~cfuO «rn)c66)'D6Tlsloci5 c:cruon.0g6)0JCDJOlro8 

cfu06m6)~s6an cru6(l)cfu'l:jO cruorulwom6)<mm~g7 

rul CR>B"lcfu(l)lc66)6cfu. 

@e.JcfuC:lSD6mlc& CTU6)lnJCW n'!:1"lg16)~ «rn)Sl 

cru.oo m ~ OOCDJ6m3u8 rul ooB"lcfu(l)lc66)6 cfu. 
Answer any ONE from 10 and 11. Each carry 
5 score (1 x 5 = 5) 

10. Briefly explain the following: 

10. 11 aj)CIDlruwl((R) rajl6)(l))llbl~Jo 63(()d G.!1.IOC3-j<mmlm 

~<m'ID@6)11l!JlJ®J<fb. (cruc::;.a,oro 5) (1 X 5 = 5) 

a. Formula bar 
10. tm06)!P nJOCDJ6anru rulooB"lcfu(l)lc66)6cfu. 

b. Cell reference 
c. Row and columns 

11. Explain spreadsheet. What are its 11. 
features? Give two examples for 
electronic spreadsheet. 

W, 

a. Formula bar 
b. Cell reference 
c. Row and columns 
m3' 6)Ln.JCW n<!:1"lg' a©CT0)06Tl) ~ CTTJ rul oo B"l cfu (l)l 

c66) 6 cfu. ~ CTO)C)6Tl) «rn)(ffi 16)~ cru ru 7 C:(I() n'l:1 (ffic6:,(0? 

<TU6)Ln.JCWn'!:1"lglm6 (l)E>rn 22BDnD(l)6m@l2l!P6<m6cfu. 

==----
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